THE ANCIENT ORDER & PRESIDENTS
LINCOLN,NIXON & CLINTON
L I0 I O

#The most notable U.S5. President of the

1800"s to be assassinated was ABRAHAM Lin-coln, A-bracham r (1309-65) 16th|
presldent of the U.5, 1861-65; assas-|
LINCOLN, who was assassinalbed don .I'-".E]'.'i]. 14 ginated by John Wilkes Hu-l:ll.h

1865, His last name, Llnﬂnln, has only the
"IK0" as vowels. In the 1900's, only 2 U.S.
Presidentz faced Impeachment Proceedings:RICHARD NIXON and WILLIAM CLINTOH.

@ Nixon resigned the Presidency in disgrace on August 8, 1974. Clinton's
Impeachmeqt Frocess began on December 19,1998. He was acguitted on February
12, 1999, Look at the last names of these 3 Presidents:

™ LIRCOLM, MIXON & CLIMTOHN
I O I D I ©

All 3 names have "I&0" as the only vowels and in that exact order.

@ Alsoc, notice the Impeachment Proceeding datas for President Clinton.
December 19 ia 12 days before January and February 12 is 12 days after
January., And 12 + 31 + 12 = 55. The Beast of Burden code is BOB, 202, 22,

2/2 or February 2nd, the 33rd day of ‘hc year. 22 33. The Beast of Burden
day is 22 33 and 22 + 33 = 535. J2-17-99

@ President Lincoln wazs assassinated on 4-T14-18E5,
tha 23,846th davy of the 1B00's. There are 36,525 days
in a century. 36,525 - 23,846 = 12,67%. Lincoln was
assassinated 12, ETH - days hefﬂra the end of the 1800°'s.

@ 13,000 - 12,679 = 321. Notice how far 12,672 is
from 13,000, The difference 1is 321; just lik& 3;2;,1; a countdown. How look
at Lincoln's name total:

-Pﬁ B R ) H Fo! ol L I M i (o] L N
+2 +1B 41 48 41 +13=d44 12 +3 +14 +3 15 +12 +14=T73 44+79=123

President Lincoln's name adds to exactly 123, And that was from the day
he was born in 180%. He was assassinated 12,679 dayvs before the end of the
cantury and 12,679 is exactly 321 away from 13,000. 123 & 3271 are the axact
opposite of each other.

#President Hixon resigned the Office of the Presi-
dency on 8-8-74. That was the 27,249%9th day of the
1900's. President Clinton's Impeachment Proceedings
were begun by Congress Un 12=19=98, which was the
36,148th day of the 1900"s. 36,148 - 27,249 = B,895.

#Congress began the Impeachment PruLeediugs ﬂ[
President Clinton exactly 8,89%% days to the day that
of President Hixon resigning the Presidency in disgrace
rather than face Impeachment,

@ 8,899 = 809 x 11. But to get 8,888 from 8,899, all you have to do is
gubtract 17:8,8%9 - 11 = 8888, And 8,888 = 101 x BB. So you get the B8 mul-
tiplied by 107. The ANCIENT ORDER's doctor code is "101Y, from the 101st
element, MEMDELEVIUM, abbreviated "Md" just like "medical doctor". The full
equation for B,899 with the "101" doctor code is [(101 x BB) + (11)] = 8899




